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IMPORTANT NOTES / Wgaqe} frer

Please fill up the OMR Sheet of this Question Answer Booklet properly before answering,

Please also see the directions printed on the obverse before filling it.
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The question paper has been divided into three Parts - A, B and C. The number of questions
to be attempted and their marks are indicated in each part.
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Attempt answers in English.
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Answers to all the questions of each part should be written continuously in the script and

should not be mixed with those of other parts. In the event of candidate writing answers
to a question in a part different to the one to which the question belongs, the question will

not be assessed by the examiner.
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The candidates should not write the answers beyond the limit of words prescribed in parts
A, B and C failing this the marks can be deducted.
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In case the candidate makes any identification mark i.e. Roll No./Name/Telephone
No./Mobile No. or any other marking_either outside or inside the answer book, it
would be treated as resorting to using unfair means. In such a case his candidature
shall be rejected for the entire examination by the Commtission.
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PART — A Marks ; 40
+

Note : Attempt all the twenty questions. Each question carries 2 marks. Answer should

not exceed 15 words.

1 Define acceptor atoms used in extrinsic semiconductors,

Give the relation between number of added impurities to Zener potential in Zener diode.

3  Define «,, for BJT
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4  What is Ingg and when it occurs in JFET?

4
5  What is forward and reverse blocking region in SCR operation?
6  Define energy signal.
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7 Define impulse function and give its Fourier transform.

8 Show the variation of auto-correlation function with time function and for energy signals.
; Gwe its maximum value,

9  What is ROC of anti-causal infinite duration left sided sequence.
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10 Wha;[ is stable LTI system?

11  State the maximum power transfer theorem.

12 For a two port network draw an equivalent network using h parameters.

14— 1/ KH-1012] .6 | [Contd...

D0 0 601 0 L



13 Define input driving point impedance function.

14  State the Ampere’s law.

15 Give the relation between Poisson’s equation and Laplace equation.
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16 Define infinite length transmission line.

17 What is wave front?

18 What is Gross error?

14 -1/ KH-1012] | 8 " [Contd...

NS0T DO G ORI



19  Why the reading display scale‘ in moving iron instrument is non-linear?

20 List an advantage of LVDT over irid_liqiive bridge type transducer.
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PART - B g " Marks : 60
4

Note : Attempt all ‘the twelve questions, Each question carries 5 marks. Answer should
not exceed 50 words.

21  Explain the effect of C,, R, and C, on the performance of RC coupled Ce amplifier.

22 Explain the -ve resistance property of funnel diede.
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23 Critically compare the two diode type and bridge type full wave rectifier for

(1) Device Heating (ii) Average output power

24  Define the causal system and test the following systems for causality.
(1) y(t)=x(t)cos(r+l)
(i  y(r)=x(21)
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25 State the following properties of Fourier transform
(i) Frequency shift properties (i) Time-Differentiation properties

26 An LTI system is as follows:

B =
g eI E v W 7 Lty

Find the output for the given input (i) X (¢)=8(r), (1) x(¢)=8(¢-7) (i) x(r)=8(+ T)
(iv) x(t)=58(¢+5T)(v) 8(r=5t)
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27  State clearly the Parseval’s theor?m for continuous time signal.

28  Define transfer functions. How it +helps in network analysis.
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29 Explain th‘e working and use of quarter wave transformer.

30 Explain thé field pattern of four element binomual array.
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31 Explain the loss of charge method for measuring high value resistance.

32 Mention five important advantages of digital instruments over analog instruments,
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PART - C Marks : 100

Note : Attempt any 5 questions. Each question carries 20 marks. Answer should not exceed
200 words.

33  Explain the different current componen‘és operating in BIT. Show how does a BJT amplifies.
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34 Explain the working of MOSFET and explain its V-1 cha‘racteristics‘
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35 State clearly auto-correlation function. Find the auto-correlation function for a sine signal.
x(¢) = 4sin{wr +¢)
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36 (a) Describe a formation of standing wave pattern on a transmission line.
(b) What happens to standing wave pattern, when ’
(i) Lossless line is terminated into its Zo.
(i)  Losing line is terminated into its Zo.
(iii) Line is terminated into short circuit load.
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37 Explain the working of compensated thermo couple type true RMS reading voltmeter.
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38 (a) Why TEM waves are unable to travel through a rectangular wave guide, explain.
(b) Discuss the generation oft different modes in a rectangular wave guide.
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39 (a) Determine the response of the system

1

y(n)=%y(n—1)—%y(n—2)+3c(n) to the input x(n)=8(n)=538(n-1)

(b) Two systems are connected in cascade, prove that Te = T; . T,.
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